
06266 Knurled knobs

© norelem www.norelem.com 1/6

Item description/product images

Description

Material:
Black thermoplastic.
Bush and screw grade 5.8 steel.

Version:
Steel trivalent blue-passivated.

Drawing reference:
Form D: tapped bush without cap
Form K: tapped bush with cap
Form E: reamed bush without cap
Form H: reamed bush with cap
Form L: external thread

Drawings



06266 Knurled knobs

© norelem www.norelem.com 2/6

Overview of items

Order No. Form Colour
Cap

Size D D1 D2 H H1 T L

06266-1105 D - 1 M5 40 16,5 30 13 10 -
06266-1106 D - 1 M6 40 16,5 30 13 10 -
06266-1108 D - 1 M8 40 16,5 30 13 14 -
06266-1208 D - 2 M8 50 18 35 15 14 -
06266-1210 D - 2 M10 50 18 35 15 14 -
06266-1310 D - 3 M10 63 22 40 17 14 -
06266-1312 D - 3 M12 63 22 40 17 18 -
06266-2105 K 5-Axis Shoulder Screw 1 M5 40 16,5 31 13 10 -
06266-21051 K Built-in version 1 M5 40 16,5 31 13 10 -
06266-21052 K light spring force 1 M5 40 16,5 31 13 10 -
06266-21053 K Linear Actuator 1 M5 40 16,5 31 13 10 -
06266-21055 K black 1 M5 40 16,5 31 13 10 -
06266-21056 K 750X75000 (+/- 10 mm) 1 M5 40 16,5 31 13 10 -
06266-21057 K 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M5 40 16,5 31 13 10 -

06266-2106 K 5-Axis Shoulder Screw 1 M6 40 16,5 31 13 10 -
06266-21061 K Built-in version 1 M6 40 16,5 31 13 10 -
06266-21062 K light spring force 1 M6 40 16,5 31 13 10 -
06266-21063 K Linear Actuator 1 M6 40 16,5 31 13 10 -
06266-21065 K black 1 M6 40 16,5 31 13 10 -
06266-21066 K 750X75000 (+/- 10 mm) 1 M6 40 16,5 31 13 10 -
06266-21067 K 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M6 40 16,5 31 13 10 -

06266-2108 K 5-Axis Shoulder Screw 1 M8 40 16,5 31 13 14 -
06266-21081 K Built-in version 1 M8 40 16,5 31 13 14 -
06266-21082 K light spring force 1 M8 40 16,5 31 13 14 -
06266-21083 K Linear Actuator 1 M8 40 16,5 31 13 14 -
06266-21085 K black 1 M8 40 16,5 31 13 14 -
06266-21086 K 750X75000 (+/- 10 mm) 1 M8 40 16,5 31 13 14 -
06266-21087 K 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M8 40 16,5 31 13 14 -

06266-2208 K 5-Axis Shoulder Screw 2 M8 50 18 36 15 14 -
06266-22081 K Built-in version 2 M8 50 18 36 15 14 -
06266-22082 K light spring force 2 M8 50 18 36 15 14 -
06266-22083 K Linear Actuator 2 M8 50 18 36 15 14 -
06266-22085 K black 2 M8 50 18 36 15 14 -
06266-22086 K 750X75000 (+/- 10 mm) 2 M8 50 18 36 15 14 -
06266-22087 K 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

2 M8 50 18 36 15 14 -

06266-2210 K 5-Axis Shoulder Screw 2 M10 50 18 36 15 14 -
06266-22101 K Built-in version 2 M10 50 18 36 15 14 -
06266-22102 K light spring force 2 M10 50 18 36 15 14 -
06266-22103 K Linear Actuator 2 M10 50 18 36 15 14 -
06266-22105 K black 2 M10 50 18 36 15 14 -
06266-22106 K 750X75000 (+/- 10 mm) 2 M10 50 18 36 15 14 -
06266-22107 K 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

2 M10 50 18 36 15 14 -

06266-2310 K 5-Axis Shoulder Screw 3 M10 63 22 41 17 14 -
06266-23101 K Built-in version 3 M10 63 22 41 17 14 -
06266-23102 K light spring force 3 M10 63 22 41 17 14 -
06266-23103 K Linear Actuator 3 M10 63 22 41 17 14 -
06266-23105 K black 3 M10 63 22 41 17 14 -
06266-23106 K 750X75000 (+/- 10 mm) 3 M10 63 22 41 17 14 -
06266-23107 K 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

3 M10 63 22 41 17 14 -

06266-2312 K 5-Axis Shoulder Screw 3 M12 63 22 41 17 18 -
06266-23121 K Built-in version 3 M12 63 22 41 17 18 -
06266-23122 K light spring force 3 M12 63 22 41 17 18 -
06266-23123 K Linear Actuator 3 M12 63 22 41 17 18 -
06266-23125 K black 3 M12 63 22 41 17 18 -



06266 Knurled knobs

© norelem www.norelem.com 3/6

Overview of items

Order No. Form Colour
Cap

Size D D1 D2 H H1 T L

06266-23126 K 750X75000 (+/- 10 mm) 3 M12 63 22 41 17 18 -
06266-23127 K 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

3 M12 63 22 41 17 18 -

06266-3106 E - 1 6 40 16,5 30 13 10 -
06266-3208 E - 2 8 50 18 35 15 14 -
06266-3310 E - 3 10 63 22 40 17 14 -
06266-4106 H 5-Axis Shoulder Screw 1 6 40 16,5 31 13 10 -
06266-41061 H Built-in version 1 6 40 16,5 31 13 10 -
06266-41062 H light spring force 1 6 40 16,5 31 13 10 -
06266-41063 H Linear Actuator 1 6 40 16,5 31 13 10 -
06266-41065 H black 1 6 40 16,5 31 13 10 -
06266-41066 H 750X75000 (+/- 10 mm) 1 6 40 16,5 31 13 10 -
06266-41067 H 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 6 40 16,5 31 13 10 -

06266-4208 H 5-Axis Shoulder Screw 2 8 50 18 36 15 14 -
06266-42081 H Built-in version 2 8 50 18 36 15 14 -
06266-42082 H light spring force 2 8 50 18 36 15 14 -
06266-42083 H Linear Actuator 2 8 50 18 36 15 14 -
06266-42085 H black 2 8 50 18 36 15 14 -
06266-42086 H 750X75000 (+/- 10 mm) 2 8 50 18 36 15 14 -
06266-42087 H 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

2 8 50 18 36 15 14 -

06266-4310 H 5-Axis Shoulder Screw 3 10 63 22 41 17 14 -
06266-43101 H Built-in version 3 10 63 22 41 17 14 -
06266-43102 H light spring force 3 10 63 22 41 17 14 -
06266-43103 H Linear Actuator 3 10 63 22 41 17 14 -
06266-43105 H black 3 10 63 22 41 17 14 -
06266-43106 H 750X75000 (+/- 10 mm) 3 10 63 22 41 17 14 -
06266-43107 H 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

3 10 63 22 41 17 14 -

06266-5105X10 L 5-Axis Shoulder Screw 1 M5 40 16,5 31 13 - 10
06266-51051X10 L Built-in version 1 M5 40 16,5 31 13 - 10
06266-51052X10 L light spring force 1 M5 40 16,5 31 13 - 10
06266-51053X10 L Linear Actuator 1 M5 40 16,5 31 13 - 10
06266-51055X10 L black 1 M5 40 16,5 31 13 - 10
06266-51056X10 L 750X75000 (+/- 10 mm) 1 M5 40 16,5 31 13 - 10
06266-51057X10 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M5 40 16,5 31 13 - 10

06266-5105X20 L 5-Axis Shoulder Screw 1 M5 40 16,5 31 13 - 20
06266-51051X20 L Built-in version 1 M5 40 16,5 31 13 - 20
06266-51052X20 L light spring force 1 M5 40 16,5 31 13 - 20
06266-51053X20 L Linear Actuator 1 M5 40 16,5 31 13 - 20
06266-51055X20 L black 1 M5 40 16,5 31 13 - 20
06266-51056X20 L 750X75000 (+/- 10 mm) 1 M5 40 16,5 31 13 - 20
06266-51057X20 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M5 40 16,5 31 13 - 20

06266-5105X40 L 5-Axis Shoulder Screw 1 M5 40 16,5 31 13 - 40
06266-51051X40 L Built-in version 1 M5 40 16,5 31 13 - 40
06266-51052X40 L light spring force 1 M5 40 16,5 31 13 - 40
06266-51053X40 L Linear Actuator 1 M5 40 16,5 31 13 - 40
06266-51055X40 L black 1 M5 40 16,5 31 13 - 40
06266-51056X40 L 750X75000 (+/- 10 mm) 1 M5 40 16,5 31 13 - 40
06266-51057X40 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M5 40 16,5 31 13 - 40

06266-5106X10 L 5-Axis Shoulder Screw 1 M6 40 16,5 31 13 - 10
06266-51061X10 L Built-in version 1 M6 40 16,5 31 13 - 10
06266-51062X10 L light spring force 1 M6 40 16,5 31 13 - 10
06266-51063X10 L Linear Actuator 1 M6 40 16,5 31 13 - 10
06266-51065X10 L black 1 M6 40 16,5 31 13 - 10
06266-51066X10 L 750X75000 (+/- 10 mm) 1 M6 40 16,5 31 13 - 10



06266 Knurled knobs

© norelem www.norelem.com 4/6

Overview of items

Order No. Form Colour
Cap

Size D D1 D2 H H1 T L

06266-51067X10 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227
20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop

ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M6 40 16,5 31 13 - 10

06266-5106X20 L 5-Axis Shoulder Screw 1 M6 40 16,5 31 13 - 20
06266-51061X20 L Built-in version 1 M6 40 16,5 31 13 - 20
06266-51062X20 L light spring force 1 M6 40 16,5 31 13 - 20
06266-51063X20 L Linear Actuator 1 M6 40 16,5 31 13 - 20
06266-51065X20 L black 1 M6 40 16,5 31 13 - 20
06266-51066X20 L 750X75000 (+/- 10 mm) 1 M6 40 16,5 31 13 - 20
06266-51067X20 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M6 40 16,5 31 13 - 20

06266-5106X40 L 5-Axis Shoulder Screw 1 M6 40 16,5 31 13 - 40
06266-51061X40 L Built-in version 1 M6 40 16,5 31 13 - 40
06266-51062X40 L light spring force 1 M6 40 16,5 31 13 - 40
06266-51063X40 L Linear Actuator 1 M6 40 16,5 31 13 - 40
06266-51065X40 L black 1 M6 40 16,5 31 13 - 40
06266-51066X40 L 750X75000 (+/- 10 mm) 1 M6 40 16,5 31 13 - 40
06266-51067X40 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M6 40 16,5 31 13 - 40

06266-5108X15 L 5-Axis Shoulder Screw 1 M8 40 16,5 31 13 - 15
06266-51081X15 L Built-in version 1 M8 40 16,5 31 13 - 15
06266-51082X15 L light spring force 1 M8 40 16,5 31 13 - 15
06266-51083X15 L Linear Actuator 1 M8 40 16,5 31 13 - 15
06266-51085X15 L black 1 M8 40 16,5 31 13 - 15
06266-51086X15 L 750X75000 (+/- 10 mm) 1 M8 40 16,5 31 13 - 15
06266-51087X15 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M8 40 16,5 31 13 - 15

06266-5108X30 L 5-Axis Shoulder Screw 1 M8 40 16,5 31 13 - 30
06266-51081X30 L Built-in version 1 M8 40 16,5 31 13 - 30
06266-51082X30 L light spring force 1 M8 40 16,5 31 13 - 30
06266-51083X30 L Linear Actuator 1 M8 40 16,5 31 13 - 30
06266-51085X30 L black 1 M8 40 16,5 31 13 - 30
06266-51086X30 L 750X75000 (+/- 10 mm) 1 M8 40 16,5 31 13 - 30
06266-51087X30 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M8 40 16,5 31 13 - 30

06266-5108X60 L 5-Axis Shoulder Screw 1 M8 40 16,5 31 13 - 60
06266-51081X60 L Built-in version 1 M8 40 16,5 31 13 - 60
06266-51082X60 L light spring force 1 M8 40 16,5 31 13 - 60
06266-51083X60 L Linear Actuator 1 M8 40 16,5 31 13 - 60
06266-51085X60 L black 1 M8 40 16,5 31 13 - 60
06266-51086X60 L 750X75000 (+/- 10 mm) 1 M8 40 16,5 31 13 - 60
06266-51087X60 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

1 M8 40 16,5 31 13 - 60

06266-5208X15 L 5-Axis Shoulder Screw 2 M8 50 18 36 15 - 15
06266-52081X15 L Built-in version 2 M8 50 18 36 15 - 15
06266-52082X15 L light spring force 2 M8 50 18 36 15 - 15
06266-52083X15 L Linear Actuator 2 M8 50 18 36 15 - 15
06266-52085X15 L black 2 M8 50 18 36 15 - 15
06266-52086X15 L 750X75000 (+/- 10 mm) 2 M8 50 18 36 15 - 15
06266-52087X15 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

2 M8 50 18 36 15 - 15

06266-5208X30 L 5-Axis Shoulder Screw 2 M8 50 18 36 15 - 30
06266-52081X30 L Built-in version 2 M8 50 18 36 15 - 30
06266-52082X30 L light spring force 2 M8 50 18 36 15 - 30
06266-52083X30 L Linear Actuator 2 M8 50 18 36 15 - 30
06266-52085X30 L black 2 M8 50 18 36 15 - 30
06266-52086X30 L 750X75000 (+/- 10 mm) 2 M8 50 18 36 15 - 30
06266-52087X30 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

2 M8 50 18 36 15 - 30

06266-5208X60 L 5-Axis Shoulder Screw 2 M8 50 18 36 15 - 60



06266 Knurled knobs

© norelem www.norelem.com 5/6

Overview of items

Order No. Form Colour
Cap

Size D D1 D2 H H1 T L

06266-52081X60 L Built-in version 2 M8 50 18 36 15 - 60
06266-52082X60 L light spring force 2 M8 50 18 36 15 - 60
06266-52083X60 L Linear Actuator 2 M8 50 18 36 15 - 60
06266-52085X60 L black 2 M8 50 18 36 15 - 60
06266-52086X60 L 750X75000 (+/- 10 mm) 2 M8 50 18 36 15 - 60
06266-52087X60 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

2 M8 50 18 36 15 - 60

06266-5210X20 L 5-Axis Shoulder Screw 2 M10 50 18 36 15 - 20
06266-52101X20 L Built-in version 2 M10 50 18 36 15 - 20
06266-52102X20 L light spring force 2 M10 50 18 36 15 - 20
06266-52103X20 L Linear Actuator 2 M10 50 18 36 15 - 20
06266-52105X20 L black 2 M10 50 18 36 15 - 20
06266-52106X20 L 750X75000 (+/- 10 mm) 2 M10 50 18 36 15 - 20
06266-52107X20 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

2 M10 50 18 36 15 - 20

06266-5210X30 L 5-Axis Shoulder Screw 2 M10 50 18 36 15 - 30
06266-52101X30 L Built-in version 2 M10 50 18 36 15 - 30
06266-52102X30 L light spring force 2 M10 50 18 36 15 - 30
06266-52103X30 L Linear Actuator 2 M10 50 18 36 15 - 30
06266-52105X30 L black 2 M10 50 18 36 15 - 30
06266-52106X30 L 750X75000 (+/- 10 mm) 2 M10 50 18 36 15 - 30
06266-52107X30 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

2 M10 50 18 36 15 - 30

06266-5210X60 L 5-Axis Shoulder Screw 2 M10 50 18 36 15 - 60
06266-52101X60 L Built-in version 2 M10 50 18 36 15 - 60
06266-52102X60 L light spring force 2 M10 50 18 36 15 - 60
06266-52103X60 L Linear Actuator 2 M10 50 18 36 15 - 60
06266-52105X60 L black 2 M10 50 18 36 15 - 60
06266-52106X60 L 750X75000 (+/- 10 mm) 2 M10 50 18 36 15 - 60
06266-52107X60 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

2 M10 50 18 36 15 - 60

06266-5310X20 L 5-Axis Shoulder Screw 3 M10 63 22 41 17 - 20
06266-53101X20 L Built-in version 3 M10 63 22 41 17 - 20
06266-53102X20 L light spring force 3 M10 63 22 41 17 - 20
06266-53103X20 L Linear Actuator 3 M10 63 22 41 17 - 20
06266-53105X20 L black 3 M10 63 22 41 17 - 20
06266-53106X20 L 750X75000 (+/- 10 mm) 3 M10 63 22 41 17 - 20
06266-53107X20 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

3 M10 63 22 41 17 - 20

06266-5310X30 L 5-Axis Shoulder Screw 3 M10 63 22 41 17 - 30
06266-53101X30 L Built-in version 3 M10 63 22 41 17 - 30
06266-53102X30 L light spring force 3 M10 63 22 41 17 - 30
06266-53103X30 L Linear Actuator 3 M10 63 22 41 17 - 30
06266-53105X30 L black 3 M10 63 22 41 17 - 30
06266-53106X30 L 750X75000 (+/- 10 mm) 3 M10 63 22 41 17 - 30
06266-53107X30 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

3 M10 63 22 41 17 - 30

06266-5310X60 L 5-Axis Shoulder Screw 3 M10 63 22 41 17 - 60
06266-53101X60 L Built-in version 3 M10 63 22 41 17 - 60
06266-53102X60 L light spring force 3 M10 63 22 41 17 - 60
06266-53103X60 L Linear Actuator 3 M10 63 22 41 17 - 60
06266-53105X60 L black 3 M10 63 22 41 17 - 60
06266-53106X60 L 750X75000 (+/- 10 mm) 3 M10 63 22 41 17 - 60
06266-53107X60 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

3 M10 63 22 41 17 - 60

06266-5312X30 L 5-Axis Shoulder Screw 3 M12 63 22 41 17 - 30
06266-53121X30 L Built-in version 3 M12 63 22 41 17 - 30
06266-53122X30 L light spring force 3 M12 63 22 41 17 - 30
06266-53123X30 L Linear Actuator 3 M12 63 22 41 17 - 30
06266-53125X30 L black 3 M12 63 22 41 17 - 30



06266 Knurled knobs

© norelem www.norelem.com 6/6

Overview of items

Order No. Form Colour
Cap

Size D D1 D2 H H1 T L

06266-53126X30 L 750X75000 (+/- 10 mm) 3 M12 63 22 41 17 - 30
06266-53127X30 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

3 M12 63 22 41 17 - 30

06266-5312X60 L 5-Axis Shoulder Screw 3 M12 63 22 41 17 - 60
06266-53121X60 L Built-in version 3 M12 63 22 41 17 - 60
06266-53122X60 L light spring force 3 M12 63 22 41 17 - 60
06266-53123X60 L Linear Actuator 3 M12 63 22 41 17 - 60
06266-53125X60 L black 3 M12 63 22 41 17 - 60
06266-53126X60 L 750X75000 (+/- 10 mm) 3 M12 63 22 41 17 - 60
06266-53127X60 L 8 x ModuLine ML-20-6 ball joint Art. 241211, 1 x ML-40 ball joint Art. 241227

20 x extension ModuLine ML-20-50 Art. 245800, 4 x swivel joint ModuLine TurnStop
ML-100 Art. 241200, 4 x function head ModuLineML-20 Art. 245700

3 M12 63 22 41 17 - 60


